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Note

g

This paper has Four sections, Section - A General Knowledge of Madhya Pradesh : Q.No. 01 to 50,
Section - B Reasoning : Q.No 51 to 75, Section - C Psychological Test : Q.No. 76 to 100
and Section - D Pharmacy : Q.Ne. 101 to 200.

This question booklet contains 200 questions numbered from 1 to 200 and each question
carry 1 mark. All questions are compulsory. There is no negative marking. ‘

Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as
required and stated above and no repetition or omission of questions is evident.

If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15 minutes:

Before answering the questions please read carefully the instructions printed on the back
cover page of the question booklet and strictly follow them. Indicate your answers by
blacking bubbles carefully only on the O.M.R. Answer Sheet provided.

Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited.
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1.

Section - A

General Knowledge of
Madhya Pradesh (Q.No. 01 to 50)
Rana Pratap Sagar Pariyojana is the
joint Pariyojana of which states?

(A) Madhya Pradesh and Uttar Pradesh
(B) Madhya Pradesh and Rajasthan
(C) Madhya Pradesh and Maharastra
(D) Madhya Pradesh and Gujarat

In which year was ‘Balram Tal’
yojana started in Madhya Pradesh?

(A) 1992
(B) 1975
(© 1980
(D) 2007

When was Land Development Nigam
established in Madhya Pradesh?

(A) 1977-178
(B) 1958 -59
(© 1971-172
(D) 1982-83

On which river is Barna Nehar built?
(A) Benganga River

(B) Narmada River

(C) Barna River

(D) Chambal River

WYL - H
(w.%. 01 | 50)
0T WaTg TR gi@isr T e fee aeat

Y Tges TREAT § 2
(A) TR WA T IW WA
(B) Wem Wy v TeRA™
(C) weg W3w wd WERIg
(D) Wea W W& T

e RN ¥ ToR™ at WAAT * T
wrow forw ad @ gan @ ?

(A) 1992

B) 1975

) 1980

D) ‘ 2007

weg oW A i e fm & varaan
& g 7

(A) 1977-78

(B) 1958-59

(€) 1971-72

D) 1982-83

TRAT AW R AR R =i 7
(A) v T
(B) gy 7l
(C) wrat =
(D) =t T
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Set- A




In which district of Madhya Pradesh
the production of Soyabeen is
maximum ?

(A) Indore
(B) Ujjain
(C) Khargon
(D) Bhopal

What is the total length of Narmada
River?

(A) 1312 km
(B) 1210 km
(C) 3210 km
(D) 5612 km

Where is ‘Rajat Jal Prapt’?
(A) Sagar

(B) Near Rewa

(C) Aravali Ranges

(D) Pachmadi

Where is Jawahar Lal Nehru
Agriculture University?

(A) Gwalior
(B) Indore
(C) Jabalpur
(D) Bhopal

ueq Wew ¥ Watfeh WA IAEeh
Renalwarg ?

(A) =R
(B) I=M
(C) T
(D) warer

g ¥ B o g et § ?
(A) 1312 f&.Ht.
(B) 1210 f&. 4.
(C) 3210 fw..
(D) 5612 f& .

‘TIa eI g § ?
(A) W

(B) drar & faewe

(C) mmaet gEen
(D) demgt

AT g6 Hiv Rvafemea wgt
e

(A) TaErferR
(B) 3=R

(C) wEagR
(D) WUt

ASD/12-B
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10.

11.

12.

In Madhya Pradesh, where is the
Head Office of Cotton Research
Centre?

(A) Khargoan
(B) Dewas
(C) Ratlam
(D) Indore

In Madhya Pradesh which district has
the maximum population growth rate?

(A) Bhopal
(B) Jabalpur
(©) Indore
(D) Gwalior

What is the population growth rate in
Madhya Pradesh?

(A) 20.3 percent
(B) 20.6 percent
(C) 20.1 percent
(D) 19.3 percent

Where are the division branches of
M.P. High Court situated?

(A)
(B) Indore and Gwalior
(C) Bhopal and Gwalior
(D)

Indore and Bhopal

Indore, Bhopal and Gwalior

10.

11.

12.

FAW ATEUH Frg T GBATET Ted
TR H Wl ] ?

(A) @i

(B) am

(C) TEm

(D) F=N

e YewT W |aifdes TEen ghy
aren Remda ar g ?
(A) Ut

(B) e
(C) =R
(D) TarferrR

Reg WRN W SAEEm gfg W R ?
(A) 20.3 wfiwa
(B) 20.6 wfavra
(C) 20.1 ufava
(D) 19.3 ufawa

W WRYT I AT h! TUSUIS Hgl-

wEifREmd ?

(A) 3RR T& W

(B) TRRUE TarferR <
(C) WaTet T TaTierR

(D) TR, HUTA T ey

ASD/12-B
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13.

14.

15.

How many members of Rajya Sabha
are from Madhya Pradesh?

(A) 9
(B) 12
(©) 10
(D) 11

How many Municiples are in M.P.?
(A) 91
(B) 95
(C) 96
D) 90

How many Tahsils are in M.P.?
(A) 342
(B) 344
(C) 340
(D) 332

13.

14.

15.

EATRY | TS 9T % foRae wEe T
8-

A 9

B 12

<© 10

@) 11

we wewt W fhat R wifetert 3 ?
(A) 91
B) 95
() 96
®) 90

wea waw # o fonarlt el 8 2
(A) 342
(B) 344
(C) 340
(D) 332

16. Which is the state flower of Madhya | 16, wem wew =1 TRl g HH AT ?
Pradesh?
(A) Gulab (A) To=
(B) Gandha (B) ar
(C) White Lili (C) wihg foreft
(D) Gulmohar (D) TR
ASD/12-B -6- Set- A



17.

18.

19.

In M.P. Regional Institute of | 17.

Education is situated in __
(A) Bhopal

(B) Indore

(C) Jabalpur

(D) Ujjain

Jal Satyagraha came to an end after | 18.

days demonstration.
A) 14
(B) 15
©) 16
D) 17

‘Bagh’, a Village in Gwalior is | 19,

famous for ____
(A) Sculptures
(B) Architecture
(C) Cave painting
(D) All the above

asfrar e weerm wea wrdwr o wei fom
2 ?

(A) WA

(B) 3=R

(C) SrEeTqR

(D) ==+

I FeAng -~ - o & weelv & ag
[T AT |

(A) 14
B) 15
(C) 16
) 17

TR 6T U Nitg T g g ---
* foru |

(A) Hfdeern
(B) anfhea=r
(C) Tt Rerehen
(D) o weft

20. Sanchi Stupa is located near to _ 20. die |9 ~-- % Pz fm 2 |
(A) Bhopal (A) waT
(B) Ujjain (B) ==\
(©) Gwalior (C) Taferm
(D) Indore (D) g@.{
ASD/12-B  -7- Set - A
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21.

22.

23.

24.

Which of the following state is to the
East of Madhya Pradesh?

(A) Haryana
(B) Kerala
(C) Punjab
(D) Chhatisgarh

When was Chhatisgarh separated
from Madhya Pradesh?

(A) 15 August 1975
(B) 1 November 2000
(C) 26 January 2000
(D) 18 June 2001

Which of the following is the official
language of Madhya Pradesh?

(A) Hindi
(B) Bhili
(C) Gamit
(D) Ardhamagadhi

Which of the following was not added
to Madhya Pradesh in 19567

(A) Bhopal
(B) Madhya Bharat
(C) Kutch
(D) Vindhya Pradesh

21.

22.

23.

24.

frer § A T 1 AT A WRH F qA F
3?

(A) Zfemom
(B) ¥
(©) do=
(D) THETg

BHENG WA WY & i AT gIAT ?
(A) 15 srmea 1975

(B) 17&=r 2000

(C) 26 wadt 2000

(D) 183 2001

e & @ wem wRw Y S H AT
272

A) &=
(B) foerd
(C) wm
(D) 3rsfETTIiY

ﬁw§@1956ﬁwwmﬁaa§31
oar ?

(A) WO
(B) wew WRa
(C) ==
D) e wew

ASD/12-B
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25. Who of the following was Madhya
Pradesh’s Chief Minister in 19647

(A) Uma Bharti

(B) Dwarika Prasad Misra
(C) Digvijay Singh

(D) Babulal Gaur

26. Usha Kiran Palace is located in
(A) Gwalior
(B) Bhopal
(C) Ujjain
(D) Jabalpur

27. Welcom Heritage Golf view hotel is
situated in __ '

25,

26.

27.

et # & 1964 # wenr wRwr w1 gEsh
HA or ?

(A) 3IUT HRAT

(B) gt g fram
(C) ffrewa g
(D) wTgeTA TR

I ffwr wget - A RE
(A) TR |
(B) wuTer

(C) =

(D) =R

Ferw e w7 e - A
fem

(A) Mhow (A) w8
(B) Kanha (B) gt
(C) Pachmarhi (C) dawdt |
(D) Ujjain (D) =/
28. Who was built the stupas at Sanchi? | 28. @i & wul =1 frain fre yres
HAAT AT ?
(A) Ashoka
(A) o
(B) Chandragupta Maurya
B) wgw W
(C) Bindusar (B)
(D) Chandragupta Vikraniaditya © 3
(D) =g fasearfee
ASD/12-B -9- Set - A
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29. Total number of Airports in Madhya | 29, wex w@w & $o1 ——— TS g R |
Pradesh are
(A) @&
(A) Three
(B) =R
(B) Four
(©) Five (€ w=
(D) Six D) =
30. Main crops of Madhya Pradesh are 30. wWew WeW H YT WEA ~—— 2
(A) Wheat (A) W
(B) Gram (B) W™
(C) Jowar (C) w&ar
(D) All of the above (D) IO qt
31. The population density of Madhya | 31, weq v Y o w=e —- 2 |
Pradesh is
(A) 192 per sqkm (A) 192 ufa =t T .+t
(B) 196 per sq.km (B) 196 ufa @t fn.+f.
(C) 190 per sq.km (C) 190w =rt e ..
(D) 186 per sq.km (D) 186 wfa =t o6 .=,
32. Total number of districts in Madhya | 32, wex wdw & ger el 1 T @ -
Pradesh are ____
(A) 50 (A) 50
(B) 40 (B) 40
© 49 ©) 49
(D) 39
(D) 39
ASD/12-B -10- Set- A



HET Y9! Y TH WA WiRewn At w3l W

33. Where is the only Ladies Jail situated | 33,
in M.P.? 27
(A) Nersinghpur (A) RER
(B) Hoshangabad (B) grvimraTe
(C©) Betul © a;!\ﬁ
(D) Dhar D) =w
34. Only Unani Medical College of M.P. | 34, wew wiw w1 T% Wit qar fafesen
is situated in ___ wETeremera gl fm 2
(A) Shivni A) Rt
(B) Raisen (B) @@=
(©) Bhurhampur (C) TEER
(D) Neemuch (D) =
35. In the major portion of Madhya | 35 weg yRy ¥ watties 8 % w9 O wae
Pradesh which crop is cultivated? 2 ot 2 2
(A) Wheat (A) ﬁi
(B) Rice (B) wmad
(C) Soyabeen (C) wramEA
(D) Jawahar (D) TR
36. Which is the ‘State bird’ of M.P.”? 36. WA AW W1 TRTRIT ueh’ W R 7
(A) Bulbul (A) gaget
(B) Dudhraj (B) gaut
(C) Parrot (C) war
(D) Mena (D) #mT
37. Which is the state tree of M.P.? 37. WAYRI T USThIT J&T T 8 ?
(A) Bargad (A) =] |
(B) Pipal (B) dtue
(C) Neem (©) m
(D) Sagoon (D) =wi=
ASD/12-B -11- Set - A




\

38.

39.

40.

41.

42.

Whose mortal relic is kept in Sanchi
Stub? ’ '

(A) Samrat Ashok

(B) Sariputra

(C) Mogadhlayan

(D) Sariputra and Mogadhlayan

Which king built ‘Chanderi kila’?"
(A) Raja Jaipal

(B) Kirtipal

(C) Raja Nal

(D) God raja Narender Shah

From which National Park the Project
Tiger in M.P. was started?

(A) Panna

(B) Madhav

(C) Kanha

(D) Sanjay Gandhi

On which river is Mata Tila Banth is
built?

(A) Narmada
(B) Tapti

(C) Ken

(D) Betva

Which city is called Laghu

38.

39.

40.

41.

42.

et % wqu i Pt arfat W 7
(A) wHTE awi |

(B) Wity

(C) wrgemEA |

(D) wRgA Td wieama

‘ﬁﬁ%%ﬁ’wﬁnﬁﬁmmﬁ
AT o1 ?

(A) TS T9UTA

(B) wfdurer

(C) =T I

(D) T T G WIE

weg WAV H WAFE TER w1 AR
Tawem o Tt sam | gem ?
(A) =

(B) wua

(C) ==t

(D) st et

wrat den gy e A e g ?
(A) et
(B) wrdt
(©)
(D) Saan

Y TRTE foh| R Rt W AT R ?

Khajuraho? (A) IR
(A) Ujjain (B) wirora waut
(B) Bhoramdev. Kavdhro ©) e
(C) Panchmarhi .
(D) Mhow D) =g
ASD/12-B  -12- Set - A



43. Which of the followihg state imposed | 43.

ban on gutka and pan masala?
(A) Kerala

(B) Madhya Pradesh

(C) Uttar Pradesh

(D) Delhi

44. Madhya
launched its Panch Parmeshwar
Scheme on - '

(A) 9 March 2012
(B) 10 January 2012
(©) 9 April 2012
(D) 9 January 2012

45. In Madhya Pradesh, the state cabinet | 45,

sanctioned
teachers-

(A) 95599
(B) 93600
(C) 92607
(D) 95600

posts of

46. The Annual Plan for Madhya Pradesh 46.

for 2012 - 2013 was finalised _____
(A) 21,000 crore Rupees
(B) 20,000 crore Rupees
(C) 23,000 crore Rupees
(D) 24,000 crore Rupees

Pradesh government | 44

e # @ Rew T 3 e o T

TETA W AR T2 ?
(A) T

(B) wem wawm

(C) I|W w9

(D) fegh

. Fg UV H{ER 3 U™ UWyaR IR

T Y -

(A) 9wrd 2012
(B) 10 s 2012
(C) 9 amuw 2012
(D) 9 sHEdt 2012

Heq T390 & A wiEer ¥ ——— Freht
#t v wiga f 2 |

(A) 95599
(B) 93600
(C) 92607
(D) 95600

2012-2013 % feru wea wewr i anfdes
o & forg -~ aa R A 2 -

(A) 21,000 TS &.
(B) 20,000 g %.
(C) 23,000 ®UT &.
(D) 24,0003 ©.

ASD/12-B
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47.

48.

49.

50.

Madhya Pradesh Government
decided on to introduce
‘Geetasar’ in School curriculum.

(A) 20 April 2011 ™
(B) 20 April 2012
(C) 19 April 2011
(D) 20 March 2011

In Madhya Pradesh, about
percent of the rural children below five
years of age are under weight —

(A) 49
(B) 50
© 31
D) 52

The Prime Minister Dr. Manmohan
Singh on dedicated
‘6-MMTPA Bina Refinery’ in MP to
the Nation.

(A) 19 May 2012
(B) 19 May 2011
(C) 22 March 2011
(D) 22 March 2012

Rani Laxmibai Rajghat Pariyojana is
the joint Pariyojana of which states?

(A) Madhya Pradesh and Uttar Pradesh
(B) Madhya Pradesh and Maharastra
(C) Madhya Pradesh and Rajasthan

(D) Madhya Pradesh and Gujarat

47.

48.

49.

50.

wer TR TR G Tl wrgmed
“Hfrarar’ e & w0 e -
= foerar W |

(A) 20 3t 2011
(B) 20 =rdw 2012
(C) 19 =¥iw 2011
(D) 20w 2011

ueuRY § e 9% | ®HA YW & Ao
- —— gftreTa = w1 a9 AT § W
§ -

(A) 49

B) 50

© 51

D) 52

‘6w Tw E dft u At fFwgad’ wem
oot ¥ wut Wit wAEET g R ---
Pt guida fFar -

(A) 1978 2012
(B) 19 %% 2011
(C) 22w 2011
(D) 22 9rd 2012

Tt reftaTd Terate ufEsen fe-fem
USEl Y HYH qfET g ?

(A) WET WOV T I W

(B) Wea YRV TH WEWTY

(C) 'Aex Wew UE T

(D) Wed WeW U [

ASD/12-B
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Section - B

Reasoning (Q.No. 51 to 75)

©vE -

arfh® gwar (X.%. 51 |/ 75)

51. Find the missing number from the | 51. = Svft & @ ow W 7 Hkme-
given series. 5, 16, 49, 104, — ? —, 280
5, 16, 49, 104, — ? -, 280 (A) 115
(A) 115 B) 148
(B) 148
(© 170 © 170
(D) 181 (D) 181
52. If CRICKETER is coded as 52. ufe e Wt § CRICKETER =
DQIBLDUDS, PLAYER will be DQIBLDUDS férar Wt § &t seft e
coded as : wret % PLAYER =Rt &Rt foran s 2
(A) QMBZFA (A) QMBZFA
(B) OMZZDS (B) OMZZDS
(© QKBXFQ (C) QKBXFQ
(D) QKBZDS (D) QKBZDS
53. How many rectangles are in the | 53 fre forg % frd A ?
following figure?
(A) 18
(A) 18 B) 19
B) 19 o) 15
<) 15 ©
D) 17 D) 17
54. Find out the different one. 54, A A wtvaT ol @ 7
@ [ 7] @y L[]
® /\ ® [\
© @ | © @
® o ()
ASD/12-B -19- Set - A
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S5.

56.

57.

58.

In the given number series one term

is wrong. Find out the wrong term.
2,3,5,8, 15, 21, 34, 55

(A) 8

B) 21

©) 15

D) 3

If the first and second letters in the
word ‘DEFINITION’ were
interchanged, also the third and the
forth letters, the fifth and sixth letter
and so on, which letter would be the
seventh letter counting from your left?
(A) N '

B) I

()%

D) O

If XY = 600, ABC = 6, then GO +
DO will be equal to

(A) 150

(B) 180

(C) 165

D) 155

In a meeting 6 women are seating.
Sonali is seating opposite to Mona,
who is seating to the left side of Jaya.
Sunidhi is opposite to Sumati, who is
seating to the left of Mona and to the

5S.

56.

57.

58.

& g Sroft F | weh v v ® ?
2,3,5,8,15,21, 34,55

(A) 8

(B) 21

©) 15

D) 3

Tfe ‘DEFINITION’ 712 % v ud fgrita
B T TR <) AT AT AR
T =9, GiEd T BS TAT AT T THR
IeRl B IrEeT-aget W § 9 @ AL
{ W Araat S1eR shiET AR ?

(A) N

B) 1

o T

® 0

TRk XY =600, ABC =6, at GO + DO
(A) 150
(B) 180

- (O) 165

D) 155

T Wil # 6 whem & § | @,
T ¥ W A e % R
21 gifly, guf & T 2 < gata &
3H ofte w3 AR ¥ 1) 9w AR

right of Sucharita. If Sonali AT A /YT GERAT W7 R SOAT AR
interchanges her place from Jaya and Tq ot @ @ o gy & diw @i
Sucharita interchanges her place from S ASTE -
Mona, then who is seating exactly to (A) |
the left of Sunidhi now :
(A) Sonali (B) guf@n
(B) Sucharita -
(C) Jaya © ) il
(D) Sumati (D) gqﬁ
ASD/12-B -20- Set- A




59. Find out the missing letter in the given

60.

61.

62.

letter series :
D,F

» s
(A) P,
(B) N
© M,

D) L,

H,J,?

Find the missing figure:

/A\:/\A - 1O ]9
'Llo

(B) @
© [ ]

® ()

(A

BROOM is related to FLOOR in the

same way as SPOON is related to :
(A) PLATE

(B) KNIFE

(C) TABLE

(D) FORK

A man is facing north. He turns 45°
in the clockwise direction and then
90° in the anticlockwise direction.
Which direction is he facing now?

(A) SW

59.

60.

61.

62.

fr star Aot ¥ ¥ qW e W
ik -

D,F,H,I,?
(A) P,

(B) N,

©) M,

D) L,

Tw Rt 7 Sl -

/A\:/\A:: O
O

(A)
©
[ ]

O

e, Wyl @ T ywR watia 3 R
uaﬁ'{mmﬁm%—

(A) wew

(B) =g @

(C) =@ @

(D) ®ea

B)
©
D)

T ik T Hg ST ht 3R B | 9 9t
# geui H R § (gfdromad) 450 9w
W | 3k WG qE u B gy B
fradia Ry (ammred) o 90 qu Srat R |
e gkt g fpw fewn # 2 2

(A) SW

(B) NW
(©) SE (B) NW
(C) SE
(D) NE (D) NE
-21- Set - A
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A

63.

64.

6S.

If GIVE is.coded as 5137 and BAT is
coded as 924, how is GATE coded?

(A) 5427
(B) 2547
(C) 5247

(D) 2475

Find the missing number from the
given series -

20, 19, 17, -7-, 10, 5
(A) 12
(B) 13
(©) 14

(D) 15

If sky is called sea, sea is called water,
water is called air, air is called cloud
and cloud is called river, then what
do we drink when thirsty?

63.

64.

65.

afy ¢ W # GIVE ®t 5137 @
BAT =t 924 foran wmar @ @t GATE
&\ = forar A ?

(A) 5427
(B) 2547
(C) 5247

(D) 2475

frer SR § ¥ oW v T -
20, 19,17, -7-,10,5

(A) 12

B) 13

< 14

(D) 15

T2 aTeRTel T WY H AT T , WG
W YT HIT ATAT 2, T i gaT Hhgl
AT , ATt A1G gl Al g IR
G i TS HgT AT ¢ | A9 gH =

4) Sky T Y R W ?
A) 3Rt
(B) Air )
(B) z&
(C) Water
(C) urt
(D) Sea
(D) «gg
ASD/12-B -22- Set - A




66.

67.

68.

How many squares are there in the
following figure?

(A) 14
(B) 13
©) 15
®) 12

A three centimeter cube has been
painted red on all its sides. It is cut
into one centimeter cubes. How many
cubes will be there with only one side
painted red?

(A) 4
(B) 6
<G 1
®) 9

A driver drives 20 km, towards east.
He then takes a left turn and drives
7 km after which he goes 12 km,
towards west. Next, he takes a right
turn and drives Skm. Finally he takes
left and drives 8 km. How far is he

66.

67.

68.

A R d St § 7

(A) 14
(B) 13
(C) 15
D) 12

T 3 9t YT 9T a9 & 9t weret
AT T @ qrar (Paint) TaT ® 1 3@
1 9ft. g aret uAt § wre e s
2, @ 2@ fraa o g Rt St w
eTeh AT gaT ot g ?

(A) 4

3B) 6

O 1

D) 9

TH FEeR gd it iR 20 fet. <
2 | 35 w1g At = g 7 foedt, wrer
2, aeaveTq o aivew & ok 12 .
AT } | 39 WG A gt AR I S
fmdt. aerar 2 | o § @ |t AR
e 8 fomft. werm | o o wRiwE

from the starting point. g et ?
(A) 11 km. (A) 11 fearit.
(B) 12 km. (B) 12 fomdt,
(C) 13 km. (©) 13 fet.
(D) 14 km. (D) 14 fasht.
ASD/12-B -23- Set- A




69.

70.

71.

Pointing to a woman in a photograph
a man says, “Her mother’s mother is
the mother of my father”. How is the
man related to the woman in the
photograph?

(A) Uncle

(B) Maternal cousin
(C) Nephew

(D) Grand son

In a certain code language, if the
number 1 is assigned to all the letters
at odd places in the alphabet and the
remaining letters are assigned the
number 2 then what is the code for
the word INDIAN?

(A)
(B)
©
(D)

2121212
211211
122122
122112

How many pairs of letters are there in
the word ‘WHITE’, which have as
many letter between them in the word
as in the alphabet.

69.

70.

71.

ErTE # T ien @t $ha w6 g
UF GEY Hgal § *‘Jaeht wrar hy A
W frar & wrar 2771 gEw R TR
W # e uiten @ wafiw g -

(A) ==
(B) WA Wg
(C) wwefrsmt
(D) e

ww Tl e v § quiuren & few
T OX o ST et i Wt 1/
=oeh ToRa STat § ae Y e w oiw
2 @ = Towar S g at INDIAN wsg
T SIS ¥ EN ?

(A) 2121212
(B) 211211
(C) 122122

(D) 122112

veg ‘WHITE’ # 0@ fohaat e1er gww €
R wem yreg § 3w B e § R
6 37 wem SRIH quiwTen § € 7

A 1

(A) 1
B) 2 ®) 2
© 3 © 3
(D) Zero (D) o=
ASD/12-B -24 - Set- A



72,

73.

74.

7S.

Find the missing number :
1/4:1/8::1/3:?

(A) 2/6

B) 277

(C) 1/6

D) 177

In a certain code language CAT is
coded as 24, what will be the code
number for BAT in the same code
language?

(A) 32

B) 21

< 23

D) 42

73.

Choose from the four diagrams given
below, the one that illustrates the
relationship among Languages,
French, German?

74.

In a certain code language, ‘479" | 75.

means ‘fruit is sweet’; ‘248’ means
‘very sweet voice’ and ‘637’ means
‘eat fruit daily’. Which digit stands
for ‘is’ in that code?

A 7

B) 9

©) 4

(D) Can’t be determined

72.

g wem T R -

1/4:1/8 : 1/3:?
(A) 2/6
B) 2/7
© 1/6
D) 177

forelt e wrar & CAT =Y 24 fovan wman
g @ et W ¥ BAT =t = feran
T -
(A) 32
B) 21
(C) 23
D) 42

33 ma um Rt § & Wi R e,
e, TER % A qE gy @ e
AT ?

w ©O0
(B) OO

©
(D)

e fawia e W ° ‘479 @ ot @
“fruit is sweet’, ‘248’ @ 21k & ‘very
sweet voice’ AT ‘637’ T ek § ‘eat
fruit daily’, @Y 39 e st & forat oi
T g ‘is’ ghI ?

(A) 7

B) 9

C) 4

(D) wa T o - wwar

ASD/12-B
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Section - C

v w«us -’
Psychological Test AR e
~ (Q.No. 76 to 100) (x.%. 76 & 100)
76, If D is the brother of B, how B is | 76. "RD, B Wig 2, @B C % W1
| telated to C? To answer this question a7 dEY § 7 39 W % W F
which of the statements is/are = @ T T D |
necessary.
L ‘The son of D is the grandson of C. L Dt der C e @ |
© II.B is the sister of D. ILB,DH 7 2 |
(A) Only I is required (A) et [ T 2 |
" (B) OnlyII is required (B) ¥aet IR w&m 2 |
o (C)' Bpth I and II are required (C) IATIRIIF w&a 2 |
‘(D) Either I or II is required (D) Lat Ikt & 2 |
7. : If the letters in the word POWERFUL | 77, 3f2 wisg POWERFUL & 218wt @ 39
- are rearranged as they appear in the . @ F Oy T e e e d d
English alphabet, then the position of 3ot ot s .
how many letters will remain * 3@%3}311 g
~ unchanged after the rearrangement? < ey T argrt ot ferfa saftatda
gt ?
(A) None (
A) I3
(B) One
(B) T
- (C) Two © =
(D) Three D) #
78. Which name will be in second place | 78. smr féo U A W TE YER ®W A
- if given names arranged as they T W AR T wE oo 39
~ appear in telephone directory- # sy 3
eip R ECiE e | 3@ T&R
(A) Avdesh AL S W A ERM ¢
(B) Avadhesh (A) Avdesh
© Awadesh (B) Avadhesh
: . (C) Awadesh
(D) Awdhesh (D) Awdhesh
ASD/12-B -30- Set - A
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To answer the question No. 79 and 80 read
the information carefuily.

The six members of a family A, B, C, D, E
& F are travelly together. B is the son of C
but C is not the mother of B. A and C are
married couple. E is the brother of C. D is
the daughter of A. F is the brother of B.

79. How many male members are there
in family
A) 1
B) 2
<) 3
(D) 4

80. How many children does A have?
(A) one
(B) two
(C) three
(D) four

81. A cube whose one side is 8 cm. is

mmwwsoﬁwﬁﬁ%mﬁnﬂ
o = mﬁw%ﬁ";' 4

{

'qaswﬁ'mﬁﬁm Af,B,:b i) EaFU®

T aEn W @ ¢ LB, CH g wg C, B

RN uar TR | AT CoEhErgTER | E,
Cwiwg? ID, Asﬁrga%% I'F, was‘
21
79. smrﬁanﬁgmmw‘r " "ﬁ%wiién%-
(A) 1 R - [ .
(B) 2 |
©) 3
D) 4

8. Afifechami?
®) @
(©) dm
(D) =W

81. 8. AT AR TH YA HY T F 64

divided into 64 small cubes of equal B uAl o |tz Rar mar A s ww fy
size. The side of the small cube will T YA H A 7 -
be - T o "1 - ‘.‘
v (A) 1o,
(A) 1 cm. T
(B) 2 cm. (B) 2 udt,
(C) 4 cm. (C) 4. L
(D) 0.05 cm. (D) 0.05 .
ASD/12-B -31- o Set-A
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82.

83.

84.

What should come next in the
following sequence of letters?

BBCBCDBCDEBCDEFB
CDEFGBCDEF

(A) B
B) G
(C) H
D) D

Find the odd number pair from the
given alternatives -

(A) 11-13
B) 11-17
(C) 31-35

(D) 23-29

A, B, C, D and E are sitting on a
bench. A is sitting next to B, C is
sitting next to D, D is not sitting with
E, who is on the left end of the bench.
C is on the second position from the
right. A is to the right of B and E. A
and C are sitting together In which
position A is sitting?

(A) Between B and D
(B) Between B and C
(C) Between E and D
(D) Between C and E

82.

83.

84.

21eRY 1 & ¢ Noft T IRTAT AER AT
g ?

BBCBCDBCDEBCDEFB
CDEFGBCDEF

(A) B
®B) G
© H
(D) D

3 M Repeal § ¥ Fen e g
Y | AT WHR &1 § -

(A) 11-13

B) 11-17

©) 31-35

D) 23-29

A,B,C,DIRETmTamAE 1A,
BF e # dar g, C,D & T # &ar
FIDExwaafider e d=wr &
T oA A ATTY 1CTd & W
WHAWE |A BIRE® qifzq 21 A
R Cuw wrg A3 § ot A form v ©®
FBTE ?

(A) BeR D& #fiwr &
(B) BaR C& e #
(C) EsRD& S &
(D) CoRE® rer ®

ASD/12-B
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85. One question and two statements

numbered I and I are given. You have
to decide whether the data provided
in the statements are sufficient to
answer the question

What is the code for
‘Sky’ in the code
language?

Question :

Statements : I. In the code language
‘Sky is clear’ is
written as ‘de ra fa’.

II.In the same code
language ‘make it
clean’ is written as ‘de
ga jo’.

(A) I is sufficient while II is not
sufficient.

(B) II is sufficient while I is not
sufficient.

(C) Either I or II is sufficient.
(D) Neither I nor II is sufficient.

85. UH WA Td 9 U Wik | 3 [ 23

¥ | anuant fota |t .7 o SR
oAl € @ 98 9¥H % IW 1 & forg
tmfw% I

YT : g 9Nt ® ‘sky’ @t @E W
27

HYT ; [ g W ¥ ‘sky is clear’ @t
forem € ‘dera fa’.

IL35 i wraT # ‘make it
clean’ = forea € ‘de gajo’.

(A) Ivutw 2 Safew I aate 78 |
(B) IIvaiw 2 wafes I wata 781 2 |
(C) Ianligata 2 |

(D) TR It g |

86. Y is in the East of X which is in the | 86. Y, XeqggdgMfrZzeEsmd g |
North of Z. If P is in the South of Z, . P, Z%eRmAgar P, YR frm
then in which direction of Y, is P? femag ?

(A) North (A) I
(B) South B) T
(C) South - East (©) R - o
(D) None of these . i
(D) 3 § =g
ASD/12-B -33- Set - A
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87.

88.

A statement is followed by two
conclusions numbered I and II. Read
the conclusions and then decide which
of the given conclusions logically
follows from the two statements.

Statements : Some books are tables,
Some tables are mirrors.
Conclusions:I. Some mirrors are
books.
I1. No book is mirror.
(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C) Either I or II follows.
(D) Neither I nor II follows.

Madhav knows that Mohan’s marks
are more than 3 but less than 8 in a
unit test. Sanjay knows that these are
more than 6 but less than 10. If both
of them are correct, which of the
following statements about Mohan’s
marks is definitely true?

(A) It has only one value.

87.

88.

w ®uA & i 3 frewd s [ ok

II 3 § | Reaet & w@ ot aa T

w0 6 @ s § A s frewd

AT ¢ 7

wU . TOTEH AN L | T AN AT
2

Frewd : 1. 95 oA, TEh 2 |
T1aY$ oft g A A ? |

(A) Faet frewd | Feperar g |

(B) aaer frewd 1 fraperar 7

(C) forerd ot I Fewerar 2 |

(D) =t fread I freed 11 Feerar § 1

Taa WAar 3 @ g & gfe e
s 3 @ waver g s A ww g | v
Tt 2 f6 3 et 6 @ SuTEr @A
10 @& | af Gt @ a fowr
QA AT HUT WZT & ArHiEw) &k qRH

 fPftaswdadi 2 ?

(A) TH® HEA TH AR E |
(B) za® diw awt # @ wig A am @

aFEaT g |
B) I . .
(B) It has any of three values (©) Tad B wrEt § A W o A D
(C) It has either of two values. qEHAT R |
(D) It has any of four values. D) TEh AR AL § ¥ WIS U A G
WHEAT S |
89. Three of the following four are alike | 89, = ur#d & €7 we fafde v A v
in some manner. Identify the odd one- I 2| e W g —————
(A) Paradeep (A) urdia
(B) Tarapur (B) WRIQ
(C) Rawat Bhata (C) TEawre
(D) Narora (D) =
ASD/12-B -34- Set - A



Read the given information carefully and
answer the question.

The sum of the income of A and B is more
than that of C and D taken together. The
sum of the income of A and C is same as
that of B and D taken together. Moreover,
A earns half as much as the sum of the
income of B and D.

90. Whose income is highest?
(A) A
(B) B
<G C
D) D

91. A statement is followed by two

arguments numbered I and II. You |

have to decide which of the arguments

is a ‘strong’ argument.

Statement : Should the vehicle older
than 15 years be
rejected in metros in
India?

Arguments : I. Yes. this is a
significant step to
lower the pollution
level in metros.

II. No, it will be very
difficult for vehicle
owners to shift to
other parts in
country because
they will not get
suitable job for their
very existence.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Either I or I is strong.

(D) BothI and II are strong.

& Tt GEAT ® S W WS AT WA ®HT IW
g | o

Aa B # s Ca D $t wftferw g &
Aftr 2| Ad CH s w1 wiig Ba D&y
AMFMEFTERE | A,BaDHramas
TN & AT o TR HATAT ¢ |

90. ferweht st atfaremam 2 ?
(A) A
(B) B
© C
D) D

91. qaamﬁ:maraa%am’mlaﬂﬂl
a2 m ¥ | syt fFulw wew @ f
I Aeh AEd 8 |

YA : T 15 AT W 2rfires g angAt
T WRA & AR | @RS
o= s =Ry ?

e : 1. 3T, AgTRi | WgHUT B HH
% fore o7 o wecaqui wew ¥ |

I1. 78, arg= wrfeTen! whl T91 & 1

writ § frge g wgd givea &
iR 3¢ 31 aifera & ferg
IugR & A e |

(A) et ek [ aweE g |
(B) haet ek 11 wetam 2 |
(C) Itk Herge ¥ |
(D) |t I3k 11 weh worad § |

ASD/12-B
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92. IfP & Q means P is the brother of Q¢ | 92. @R P & Qw1 Waera P, Q %1 Wig ;-
P # Q means P is the mother of Q; P # Q@1 waeia P, QI AT 7; P’fQEFI
P * Q means P is the daughter of Q in Taew PQAIA RN A#B&C*D
A #B & C * D, who is the father? AR #A g ?

(A) D (A) D

(B) B (B) B

© C ©c

(D) Data are inadequate (D) T3 rvaiv 3 |

93. Manish ranked sixteenth from top and 93. WHY TW A 16 & aur A= ¥ IHAT &
twenty ninth .from th.e bqttom _anlljong TYTT P 37 DT F UTH AT & S SH
ﬂ:lOSC passed in exarmqahqn. Six 0ys wivar o ot 1o T Y whe T
did not appear in examination and five . e §
failed. How many boys were there in & T 9 W 36 wfien & srgeft
the class? R IWweTH fhat s & 7
(A) 40 (A) 40
(B) 44 (B) 44
(©) 50 (C) 50
(D) 55 D) 55

94. In the following question arrange the | 94, = gya # feu Mo gt =t 36 W&k
given words in meaningful sequence’ safera ®t R 37T ool et wh,
and then choose the most-appropriate o g Ty e @ wh I oS -
sequence from amongst the
alternative provided below. 1. toet 2. 9twar 3. fewar 4. av
1. Site 2. Plan 3. Rent 4. Money 5. W ‘
5. Building (A) 4,1,2,5,3
(A) 4’ 1’ 2, 5’ 3 (B) 3’ 4’ 2’ 5’ 1

B) 3,4,2,5,1
B) ©) 2,3,5,1,4
©€) 2,3,5,1,4
D) 1,2,3,5,4
D) 1,2,3,5,4
ASD/12-B -36- Set - A




95. Fresh grapes contain 90% water by
weight-while dried grapes contains
20% water by weight. The weight of
dry grapes available from 20kg of

96.

97.

fresh grapes will be -
(A) 2kg |
(B) 22kg

(C) 24 kg

(D) 25kg

How many values of the natural
number n are possible so that the

(16n%+7n +6)
n
natural number?

(A) Infinite
B) 3
<€ 4
D) 7

expression

is also a

In a company there are 75% skilled

worker and remaining are unskilled.

80% of skilled workers and 20% of

unskilled workers are permanent. If
the number of temporary workers is

119, then what is the number of total - ‘

workers?

(A) 360

. (B) 340

< 377
D) 357

95.

96.

97.
. V1Y TFV & | 80% FUG HUR qw
. 20% FHVe SRR et @ | ufR

v St 90% W wr § v g@
- SRRt #20% W urt @ | 20 feethmm
AT PR § UTH g@ ST w1 aee

g -

(A) 2‘kg
(B) 2.2 kg
(C) 2.4 kg
(D) 2.5kg

mEHfdw & n & fha WA dwa ¢

- mifs wwE (16n2+7n+6) st =

- wpfw TEn @ ?

n

(A) @
(B) 3
C) 4
®) 7

TH &Ut § 75% FIA HFROR g A0

IRt HHRRE Y W 119 2 @ H

. =il 6w feah ® 7

(A) 360
(B) 340
(C) 377
D) 357

ASD/12-B;i -37-
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98.

99.

100.

Three persons A, B, C were born on
different days in the same year. If the

date and month of birth of A, BandC |

are numerically equal, then what could
be the minimum difference in the ages
of youngest and oldest in days?

(A) 57 days -
(B) 59 days
(C) 61 days
(D) 63 days

A group of 630 childrert 1s arranged

in rows for a group photograph -

session. Each row contain three fewer

children than the row in front of it.

What number of rows is not possible?
(A) 4 o

B) 5

) 6

D) 7

How many such digits are there in
the number 4251698 each of which is

as far away from the beginning of the

number as when the digits are
arranged in ascending order?

(A) None
(B) One
(C) Two
(D) Three

98.

99.

100.

Hrr =R A B, Cus &t ad # 3ter -

sem At wdgr g & 1Al A, B
C ot 5= fToR Ta I HE T ST
T @ U 2 oAt ga) afvew sy |
R HH TG AT SAHAL b AT H
gaaw fReT ofee g ?

A) 57%7

(B) 59 fa7

(C©) 61fm

(D) 63

630 sreeit % T UUE h WY BITE
wa % fore uferat o sxatem fear s
2 | = ufw ® aral enrelt Uit @
MR wa d | e d @ feadt ulweat
AT S T 2 ?

(A) 4

B) 5

< 6

(D) 7

TG 4251698 # W@ fRaw i § W
TEAT % WRY @ 31 § R & R fw
§ T wEm # ot w Fed g¢ wE |
wafed R WAIRA A |WE |

(A) =g T

(B) T=®

€ =

(D) =
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Section-D .
Pharmacy
(Q.No. 101 to 200)
101. Solubility of unionized drug increases
with
(A) Always with
temperature

increase in

(B) Always with increase in
pressure

(C) Majority of time with increase
in temp.

(D) Always with increase in pH

102. Drugs having pKa between 2.5 to 6.0
remain

(A) Ionized in gastric pH and
unionized in intestinal pH

(B) Unionized in gastric pH
(C) Ionized at all pH values

(D) Practically unionized at all pH
values

103. Surface tension is measured by
(A) Capillary rise method
(B) Cone and Plate method
(C) Anderson pipette method
(D) All the above

104. Following is associated with colloidal
dispersion stability

(A) Schulze-Hardy rule
(B) Hildebrand constant
(C) Huckel’s rule

(D) None of the above

wue - g
wTE
(w.s%. 101 | 200)
101. MR a1 R Yorviterar seet @ :

(A) i 7 & gfy %

(B) gﬁmmﬁqﬁg%m&r

(C) e T ara # gig & ara
(D) éﬁmdi.qa.ﬁqﬁ;ésmm

102. FaTd Rt pKa ¥ 2.5 % 6.0 % Hrw
%1 Tgﬁ% -

(A) i (Yeh) dt.oa. W g
T SATd & 1. TE. W AR
(B) mies di.ua. W s tgHa
(C) wwe I.Te. W W A
(D) 99T 91.U™. AT 9T SHN

FRATA A

103. g T Tre < fafer d -
(A) Ffuedr wew oty
(B) @I wa wie fafy
(C) tetma fade fafy
(D) 3w # & weft

104. Frfeiae i @ # @ Srensed e
1 fereT @ weftm -
(A) et - TSt fram
(B) TReswiz ferm®
(C) TFwe Tram
(D) Iudes H @ g Wt T

—is
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105. Which of the following statement is

true

(A) Surface tension is sudden
expansion of the surface

(B) Surface tension increases with
increase in the downward pull
of molecules in the water

(C) Surface tension is equal to
maximum free energy

{D) Surface tension has units of N

106. Which of the following are not kinetic

properties?

(A) Brownian Motion
(B) Osmotic Pressure
(C) TIonization

(D) Both A & B

107. Which of the following statement is true

(A) Hausner ratio of <1.25 indicates
a powder that is free flowing
wheregs>1.25 indicates poor
flow ability.

(B) Hausner ratio of >1.25 indicates
a powder that is free flowing
whereas<1.25 indicates poor
flow ability.

(C) The larger the Carr’s Index the
better the flow properties.

(D) Angle of repose>40° indicates a
powder that is free flowing.

108. True density is

(A) Mass/volume excluding inter-
particulate or intra-particulate
spaces.

(B) Mass/volume excluding inter-
particulate spaces.

(C) Mass/volume excluding inter-
particulate and intra-particulate
spaces.

(D) None of the above

105. freafafga & @ w9 91 ®uF w7

2

(A) IS FeHH AT GETE R |

(B) wrupat & el ® A ® WE
férama s | Y5 a9 T E |

(C) gBTa NfAhaR W TSt o s
g

(D) U8 ara ®1 gE 'N' 2 |

106. frfefas & @ w7 @ T o
(wrgAfess wiadl) =& ¢ -
(A) wsEfAEa givE
(B) stfenifew Avr
(C) rgieRtor
(D) (A) @t (B) gt

107. frefafm d a s mrwaR o & ?

(A) TR PR <1.25 TEe & o0
Tl qAT >1.25 T Tl et
EaRAE TG S I

(B) TR IVMEY >1.25 IR & =B
TAT AAT <1.25 TS Tl Hat
! S war 2 |

(C) eiftren R 3o 1= Wl JuTend
! 3 & 2 |

(D) ‘“Urret et fratw’ >40°%Rra wwan
2 foF um= YRt weET’ )

108. ¥ w (;éﬁm‘t)_ 2:

(A) W/ STEgH, TR AIEHeE Agat
¥2T UTidspeie TaH i BIg

(B) WW / ateqW, $R Wiiegpeie WA
T B

(C) wra/ avegw, gt aen ggrariégere
W H BIgA

(D) g # & =g &
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109. The critical micelle concentration | 109, fsfewer wrgfirer =3y wnfw wa

influences 2.
(A Conductivity (A) hefFefaA (arempar) =
. (®) Viscosity ®) freiiedt =
(C) Surface tension (C) B wmE
(D) All of the above (D) Iogws # & |eft
110. Nonlinear drug distribution in body | 110, vz & 2ar &1 faeur AR - g
is due to -- % wafs -
(A) Drug following one (A) T&T T HuTdh=e "igd wt m.
compartment model eeht 3
(B) Drug distribution only in central (B) Tam Faw ‘Uzer wudie § @
compartment fafm Bt 2 |
(C) Drug distribution in central and (C) Tar dzw aur IfRewer g
peripheral compartments st & Rrafa A 2 |
. (D) Drug does not absorb (D) T raviRE T A R |
111. Non-Newtonian shows which | 111am =R@ftaw w7 a1 qured goifa 2
- behavior
(A) iR
(A) Linear ,
(B) Non-linear (B) -
(C) Both linear and non-linear (C) et wer TR et
(D) None of the above (D) Iuges H @ @ T

112. Which one of the following is used | 112. fr=foRam § @ == ar auifeh J@ &

as suppository base %9 ¥ wges T § 7

(A) Coca butter (A) YT TR

(B) Polyethylene glycol (B) uicfigarsel Temg@ier
(C) Adepes solids (C) Tt Aoz

(D) All of the above ' (D) Iq0+k as
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113.

114.

115.

116.

Which one is not the purpose of
Enteric coating is

(A) To increase bioavailability of

drug
(B)

To prevent drug degradation in
stomach

(®)

To prevent gastric irritation
caused by drug

D)

For local action of the drug in
intestine

Oral absorption is ideal when:
(A) LogP>5
(B) LogP<5
©

There are more than 5 hydrogen

bond donors.
(D) Molecular weight > 500 Dalton.

Disintegration test for tablets is not
done in cases?

(A) Effervescent tablets

(B) Sugar coated tablets

(C) Film coated tablets

(D) Controlled release tablets

Which one of the following is USP-IV
dissolution apparatus --? :

(A) Paddle Apparatus

(B) Paddle Over Disc

(C) Flow-Through Cell
(D) Reciprocating Cylinder

113.

114.

115.

116.

freferfam § & = A1 Tl &t
w1 R TR -

(A) &1 & AP TGHT
(B) <t @t ug ¥ fergen & w=m

(C) Tar &% HRU X ara TR
iRym @ =9t

(D) i ¥ T4t * ikt W9 & forg

arreyt wWiRgew sraviwur gar g 9 ¢

(A) Log P>5

(B) Log P<5

(C) T % ooy ¥ 59 aNflreh grggem
7S JIAR &

(D) <ar &t MUt WR >500 gTeed

freferitga ® @ foem ufifeufaat o 2ace

w1 feasdiivm 2w T forar s 2 2

(A) TEREHE ST

(B) FW HIcE eaele

(C) Tohew ®ieE 2aae

(D) wes Refrw 2aete

FafeRaa @ @ =9 @1 gga.d.- IV
fesregem Toew @ -

(A) U= TRe™

(B) Ueer ot fowm

(C) wet g |

(D) YHamrehfn faetst
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117. A drug having plasma half-life of 24

118.

. 119,

120.

hrs and follows one compartment
model is formulated as a 25 mg tablet.
What will be % of drug will remain in
plasma on 4" day?

(A) 125
(B) 25
(©) 50
(D) 6.25

Ratio of systemic availability of a drug
administered orally and I.V. is called:

(A) Absolute bioavailability
(B) Relative bioavailability
(C©) Dynamic bioavailability
(D) None

Following device can be used for in-
line and off-line to weigh and sort a
complete batch of capsules

(A) Varicap
(B) Rotofill
(C) Rotosort

(D) All of above

Total organic carbon limit for water
for injection is

(A) <500 ppb

- (B) <5000 ppb

(C) <50 ppb
(D) < 1000 ppb

117. us gan foramt vt # org Sramarer

24 w2 g 3R a7 HureHe Atser wie
At 2, 25 mg i 2w F w9 F wAE
Tt B | =Y f&w T = fea wfeve
THTHHT | =T 7

(A) 12.5

(B) 25

(C) 50

(D) 6.25

lls.ﬁﬂﬁamﬁﬁﬁaaams’;lﬁwwﬁ

A & Iy IR Rrefis sraafaferd
w1 N Fgermar D

(A) vsaTeyge st

(B) feifts sttt

(C) s aratEaAfaferdt

(D) T & F w§ TG

119, fr=foiRas & @ = a1 Iusor Foge

% U WYVl & i 3A—AT5 a9l H(h—~
TET T B T Bied F o g
|t § -

(A) e

(B) wdfee

(C) Aemié |

(D) Iwfw & & weft

120, ‘TR R S’ B FT HEE HE

fafe @ -

(A) <500t dft =ft
(B) <5000t ¢t =ft
(C) <50 ot =t
(D) <1000 ¢ ot =
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121.

122.

123.

124,

Andrographolides are found in __* .
(A) Cinchona .

(B) Ijatura

(C) Kalmegh

(D) Gentian

Cinnamon oil contains
Cinnamoldehyde and Eugenol in
following ratios.

(A) 60-70% and 05 - 07 %
(B) 60 -70% and 20 - 25 %
(C) 60-70% and 05 - 10 %
(D) 60 - 70% and 01 - 04 %

The commercial source of Rauwolfia
root for preparation of Reserbine
is

(A) Rauwolfia vomitoria
(B) Rauwolfia tetraphyla
(C) Rauwolfia obscura

(D) Rauwolfia serpentina

The amino acid eniployed as precursor
for quinine a quinoline alkaloidis ___.

(A) Tyrosine
(B) Tryptophan

122.

123.

124.

YT HT U —————— Tar g |
(A) 60 -70% wa 05 - 07%
(B) 60 -70% T& 20 - 25%
(C) 60-70% wa 05 - 10%
(D) 60 -70% ©& 01 - 04%

TarAfEa W @ fadia ww %@ g
=Iies @d —————— g

(A) Vet SifefEr
(B) UEIATRIT TR
(C) TraefraT STTeHaET
(D) TEteAfRaT wafe

el semese e & dfaw
AYANUT 1 ARFRT ot oiE ~—— 2 |

(A) TERER

(B) <EwH
(C) Serine (C) wm
(D) Lysine (D) A
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125. The

126.

biological ~source for
Physostigmine from physostigma
venonesum is

(A) Dried seeds
(B) Dried leaves
(C) Fresh bark
(D) Fresh flowers

The content of clay in Loamy soil

" 18

(A) 05-07% |
B) 30-50%
(C) 20-40%
(D) 10-25%

127. The chemical constitution of Kaolin

128.

18
(A)
B)

Hydrated Aluminium Silicate

Hydrated Ferrous Aluminium
Silicate

©
D)

Hydrated Magnesium trisilicate

Hydrated Aluminium Calcium
Silicate

Irregular celled Stomata are present
in the leaves of

125.

126.

127.

128.

FIEGIRT W R 3 e
AT w1 Afdw A ——~—- 2

A) e dsa (< )
(B) g ew (yw wfvwi)
(©) tw wwh (arsht o)

@) w0 v (T )

wift wwr @ R § R Rt
HIAW - ===~ gar g |

(A) 05-07%

(B) 30-50%

(C) 20-40%

D) 10-25%

wreNfer & A e wEEAr - ——-
adr g |

(A) Frages sregfafian fufrene
(B) Ta¥E ¥w sregfufraw fiferde
(C) TaRE Hafdrm g Riferde

(D) Tw3ge regfafmm & fewaw
fuferdre

(A) Buchu (A) TH
(B) Spearmint B) femfiz
(C) Belladonna (C) AATEST
(D) Senna (D) &=t
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129. The constitients of Stereo glyco' | 129, fefat renas! srewtemis 6w
Alkaloid type are presentin ____ . AT TTH =~ Fo@wma g |
(A) Aerial'part of Polygala Senega (A) arerer siwr aiRerem A
"(B) Inner bark of Quillaia saponaria .
. : : (B) attafs BTt fraeman AT
(C) Ripened fruits of Tribules
terestris (C) Rl wet Regera Tdw
(D) Aerial part of Solanum (D) araE siv WA @R
khasianum
130. The main- constituent of ‘Cascare | 130, arer QUTST % Y&T UeH ——~~~ &R
sagrada are of ______ type * TETae 9rss 2 |
glycosides. y
(A) Steroidal ‘ (&) !
(B) Anthraquinone ®) o
(C) Naphthoquinone (©) vt
(D) Cyanophoric (D) wTEAIEE
131. In mixing process the critical step is | 131. forsror € wiftrar & wgeaqt wgw 7 |
(A) time of mixing (A) frsror & wra
(B) speed of stirrers (B) fewd & meit
(C) load of materials (C) wmft & wive
(D) all the above (D) FuETd uR fawey
132. Precision refers to 132. 2Ty =t waftfa ww@ar 2 |
(A) degrée of responsibility. (A) freaifafafed & faf
(B) degree of reproducibility B) fonegfafaferd i fof
(C) degree of repeatability ‘ (C) fifreifafad & foh
(D) none of the at%bve B (D) Iu0"E W @A wIE T
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133.

134.

135.

136.

guidelines for 133, amg Iﬁ W 35 ﬁm ﬁ@ﬁ % AR

As per ICH

establishment of linearity, minimum st = T & oo sravTes
number of concentration required is | | W% w m‘ |

&) 10 w10

®) 04 ® 04

(©) 05 © 05

D) 03 @) 03

Guidelines on;general principles of | 134. mm%mm@mﬁm

process validation was made available - frdy wu IqEsy wHO T O SR

and the same was finished in

(A) May 1987 -

(B) May 1967

(C) May 1986

(D) May 1988

et v @ T |
(A) w§ 1987,

@®) w1967
(© w1986
(D) mf 1988

The training of operations involves 135. _ m & uﬁtawr i } |

(A) knowledge

(B) skills
(C) attitude

(D) all the above

A) @
-(B)IM' |
(€ whwE
"(D) :masw

The quality cost for pharmaceutical 136. mﬁmmﬁmmm
industry in general are about s

(A) 10-15% | (A) 10-15%

(B) 30-40% ~ (B) 30-40%

(©) 25-45% ©) 25-45%

(D) 60-70 % 0 -

D) 60-70%

RIS
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137. Appraisal costs are the cost of

138.

139.

140.

(A) inspection
(B) testing

(C) quality

(D) all the above

In classification of watef, level 11 A

water 1s

(A) well water

(B) drinking water
(C) purified water

(D) water to parenterals

The drug regulatory authority CDSCO

denotes

(A) central drugs standards control

organisation

(B) central drugs standard council
organisation '

(C) centre for drug standards and -

cosmetic organization
(D) none of the above

Robustness in validation refers to

(A) analysis with respeéi to

deliberate variation in method

parameters
(B) repeated analysis on fixed
parameters |
(C) instrument to instrument
variation '\

(D) measurement of personal errors

137. gediea et & dr

(A) fafeor
(B) aftgror

(C) o
(D) TR &F T+t

138, urft =rffaor R et ot 2 |

(A) aTegh g ¥ urh
(B) o= =1 ot

©) ug e

(D) wRfiereq & forg st

139, Tat iR W@ € T |t ored Wt

fafufrafim = & frg

(A) Hgo g1 Sy e AR

(B) iger groveres Wifet SAfiTERve

(C) ¥R &R g1 weeH afg wiwfesn
SHUEIC NG

(D) 3T # & wig 7

140. TR ¥ woreelt W wgffa wwn @ |

(A) Tt hofrx & Seges & @ty
Fryetwm

(B) @ HW&! & AR W AT
fergegor

(C) wer ~ waw T
(D) = gt & wraA
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141. Which of the following is a Class IA | 141. fraferfem zardal & & wtwar som

antiarrhythmic drug : 1A sFSerfiafirs Suft & amar 2
(A) Sotalol f (A) m
(B) Disopyramide (B) THRIUTRIATES
(C) Verapamil (C) Atunfter
(D) Propranolol . ' (D) WOt
142. Which of the followingisaClass A | 142, fr=fofRaa sadat & @ wtven o=
antiarthythmic drug: -~ II A F=hrarftenfis Soft # atrar 3 |
- (A) Verapamil (A) &arfie
(B) Flecainide (B) WSS
(C) Propranolol (C) wWuArET
(D) Lidocaine (D) fEE=
143. Main mechanisms of action of cardiac | 143. wifEaT® TTHIAEST TH T ﬂ IR
glycosides is: fram 21
(A) To increase vagaj,iacﬁvity and (A) Na*/ K*Uwq @t §g wtah 3R a7et
inhibition of the Na*/ K* pump O PA S—

(B) To decrease vagal activity and .
inhibition of the Na*/ K* pump (B) -I?IWTKW 'zﬁ. “E.I ::am‘ i

* K
(C) To decrease vagal activity and ha B &

potentiates the activity of the (C) dme IAFTHTRY werwy Ay
Na*/ K* pump B Na*/K* 9q qeTe
(D) None of the above (D) ¢ waiH IW T

144. Increased level of lipoprotein (a) | 144. RN & 7mET Ter A Fafafaw

predisposes to oo a@ w1 TR BT & -
(A) Liver cirthosis (A) Forege Rt

(B) Atherosclerosis | - (B) strrERerEE

(C) Nephritic syndrome | ©€) Iwrdw Rigm

(D) Pancreatitis ’ (D) dwafmareddm
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145. Which of the followixig antiaﬁginal
agents is a calcium channel blocker?

(A) Nitroglycerin
(B) Dipyridamole
(C) Nifedipine
(D) Minoxidil

146. Which of the following drug reduces
blood pressure by acting on
vasomotor centers in the CNS:

(A) Labetalol
(B) Nifedipine
(C) Clonidine
(D) Enalapril

147. Which of the following hormones is
produced by the hypothalamic gland?

(A) Estradiol

(B) Growth hormone-releasing
hormone (GHRH)

(C) Glucagon
(D) Aldosterone

148. Currently used second-generation

145, frafafas & @ A FAtEAA
Wie Feviraw ool sAtet off § |
(A) ArEgrefEdE
(B) SrUE{iEwie

- (C) Pl
(D) PRt

146. PrataRaa # @ SR @1 o® IW
HeTat FaTaet TeX W d et 2 |

(A) w@ErATe
(B) TRSd
(C) wFAHEA
(D) FEmie

147. ﬁrmf%rﬁaa ¥ | wiggr g
Frrtereniies TRt & o A R |

(A) FRTEEA

(B) T TRA frefrsfin gwa
(C) Tegmia

(D) 3SR

148. fr=fofem & @ wimen % s

sulfonylureas include the following, werfer gl § T R |
EXCEPT: e ;
(A) Glibenclamide @A)
(B) Glipizide (B) efrdfizss
(C) Tolbutamide (O
(D) Glimepiride (D) TefmdRTss
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149. Which of the following agent
increases the absorption of iron from
intestine? »

(A) Cyanocobalamin
(B) Erythropoetin
(C) Folic acid

(D) Ascorbic acid

150. Which of the following substances is
synthesized in the intima of blood
vessels, is a strong inhibitor of platelet
aggregation?

(A) Thromboxane A2 (TXA2)
(B) Prostacyclin (PGI2)

(C) Prostaglandin (PGE)

(D) All of the above

151. Thiazolidinediones act by:

(A) Stimulating the beta islet cells
~of pancreas to produce insulin

(B) Reverse insulin resistance by
stimulating GLUT4 expression
and translocation

(C) Reducing the absorption of
carbohydrate from the gut

(D) All of the above

149. Preafrfem # @ wrwan smad @
(A) TR
(B) whaarEAT
(C) e offe
(D) sl sfdfts

150, Preafrfm # whren 7w i # fam

o W TR W 2 1
(A) de A2 (TXA2)
(B) WremmaFa (PGI2)
(C) wrerearsdR (PGE)

(D) Foearet weft

151. araraieiEeaT 36 aE Q@ o/ e

21

(A) e Tade Wt wwrela W ok
e & e FEEr

(B) e 3gei et ik GLUT4
Y TS

(C) watgragie Ht AUy v

(D) Fu@Er® udft

152. Glucagon is : . 152, T 98 ~

(A) A single chain polypeptide (A) uteRuede (Raver 99), 29 snfia
containing 29 amino acids and ¥tz 3 mw3500 3 |
molecular weight of 3500

(B) A glycoprotein with a molecular (B) vamrt & frret mw6000 3
weight of 6000 ©) = Afefimudnrez 2

8 2 01131?5“01{“1“%) el (D) T v YA Rrawr mw5808 3

small protein with a molecular .
weight of 5808 having R rawEnTf fed 3
disulphide linkage
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153. The drug has a steroid-like structure | 153. FrferiRaa # & ®iaT g1 w®RA§S AAT
which is responsible for its anti- % oiit offtetgieriies Thae T 2 -
androgenic effect:

A) orfieigs
(A) Amiloride @)
(B) Furosemide B) =3 E
(C) Hydrochlorothiazide ©) TEgEARIETES
(D) Spironolactone (D) TATERAERA

154. Oxytocin produces the following | 154, srfadterdiv 38 at@ T &R feewman 2

effects :
(A) It causes contraction of the (A) RIZF I FoT
uterus (B) T frererar wadt ieft @
(B) Itbrings about milk ejection from
the lactating mammary gland (C) friagymm e gem
C) It causes relaxation of the uterus .
© D) (A) 3k (B) 2
(D) Both A and B

155. Following drugs are Fluoroquinolones 155. fr=feiRag # @ stmar weifeemen
except T3
(A) Norfloxacin (A) SRR
(B) Ciprofloxacin (B) Huiwreianea
(C) Ofloxacin (C) ariweiergret
(D) Nalidixic Acid (D) Fehrdierdia otz

156. The major natural estrogens produced | 156, f=feRas & @ ®=ar & | dOR
by women are following, EXCEPT: AT TR (Feeedt) @ 2 |
(A) 17B-Oestradiol (A) 17B-FrEate
(B) Oestrone (B) I=W
(C) Ethinyl Oestradiol (C) wefifie serEare
(D) OQestriol (D) Fhertew '
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157. Mifepristone (RU-486) is:

158.

159.

160.

(A) Antiprogestin
(B) Antiandrogen
(C) Antiestrogen
(D) Androgen

Streptokinase is chosen as part of the
therapeutic regimen. Which of the
following is its mechanism of action?
(A)

It inhibits the conversion of
fibrinogen to fibrin

It activates the conversion of
fibrin to fibrin-split products

(B)

It activates the conversion of
plasminogen to plasmin -

(©)

(D) It inhibits the conversion

prothrombin to thrombin

Which of the following drug is |

inhibitor of thyroxin synthesis :
(A) Propylthiouracil

(B) Methylthiouracil

(C) Methimazole

(D) All the above

Combined oral contraceptives usually
consist of an Oestrogen and

(A) A selective estrogen-receptor
modulator

(B) A progestogen

157. A%{FER ag

158.

159.

160.

(A) FfmT
(B) 3¥étraigier @
(C) g 3
(D) g3

ST TE e @ R

(A) FEESA ¥ W T S

Aehent
(B) wIEEiAIS @t faeide W

(C) wam@dAIST | TATHHIA HT
THogTaT ket |

(D) WeisA & giew =1 wAeEEH
ehat :

frefRaw § @ WA T arERiER
T AR AT Akt 2

(A) Wfier e

(B) frefieremaitagteier

(C) wefitaisr

(D) FuwErs ast

A HIANSE T TEITH o T =T
TaT @

(A) R s fiftre diege
(B) WHrEH

(C) An antiprogestin (C) A==
(D) An androgen (D) 3=
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161. Medical Termination of Pregnancy | 161. aR@e zfifavm aife wawft woe —--
Act was passed in ¥ 9 gan
(A) 1971 (A) 1971
(B) 1969 (B) 1969
(©) 1977 (©) 1977
(D) 1980 (D) 1980
162. is not mentioned in | 162, ------ | 3w 1930 ¥
Dangerous Drugs Act 1930. g T |
(A) Coca leaf (A) HiwT E
(B) Hemp (B) &
(C) Ergot (©) otz
(D) Opium (D) onfaw
163. Application form No. is | 163. Roreqer ot v wt - 13 i TS &
required for sale of drugs listed in AT ¥ W AR - # e
schedule C and C1. T T ST 2 |
(A) 20 (A) 20
B) 21-A (B) 21-A
(C) 20-B (C) 20-B
(D) 22 (D) 22
164. D.P.C.O. is abbreviation for 164. &, dt. @, on. ey @ wadw @ |
(A) Drug Price Control Order (A) T UTER W AT
(B) Drug Price Cut Order (B) M wrEA W AR
(C) Drug Purchase Control Order (C) TN WAW HEI IR
(D) Drug Purchase Cut Order (D) TN WAW HE AR
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165. Digoxine is placed in
schedule.

(A)
(B)
©)
®)

-
-
.
-

166. One of the following drug is not in

Schedule ‘H’

(A) Nalidixic Acid
(B) Naproxan
(C) Nebivolol

(D) Phenometrazine

167. The Guidelines to undertake clinical
trial are stated in .

(A) Schedule M1
B) Schedule N
(C) Schedule R
(D) Schedule Y

168. The life period of Drug is mentioned
in

(A) Schedule Q
(B) Schedule P
(C) Schedule R
(D) Schedule V

166.

167.

168.

(A) 'E
B) X
© G
(D) ‘W

i@ o g e @ A R
(A) Iffsfas uire

(B) At

(C) Aferarems

(D) g

(A) Schedule Q
(B) Schedule P
(C) Schedule R
(D) Schedule V
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169, Fdfeet dwe % Ratn 3 vy

169. The provisions for production of
Bacterial vaccine are mentioned in SAHTAT == — = T gfofa 2
(A) Schedule F - part IV
(A) Schedule F - part IV :
(B) Schedule F (I) - part I
(B) Schedule F (I) - part I
. - I1
(C) Schedule F - part II (©) Schedule F - part
(D) Schedule F - part IX (D) Schedule F - part IX
170. The term D.T.A.B. is short form for | 170. D.T. A.B. fr= & & felt ues w1 wfgm
(A) Drug Technical Advisory Board :
. (A) T AFTehet weaTdadt @
(B) Drug Treatment Analytical
Bureau (B) ¥ et wafafewa =@t
(C) Drug Tolerance Addiction o uF
Bureau ©) = |
(D) Drug Technical Advisory (D) g et weardet =qu
Bureau ; .
171. Which one of the following Drug is | 171. fret § & ®=eft v g1 schedule X
placed under schedule ‘X’. et E @
(A) Ciprofloxacin (A) Ciprofloxacin
(B) Dexamphetamine (B) Dexamphetamine
© Paracetamql (C) Paracetamol
(D) Tolbutamide (D) Tolbutamide
172. The prescription in duplicate is | 172, m—gﬁ T ——-—— ¥ 2 &
required for drugs falling in . frferr @ whrew § sifvard 2 |
(A) Schedule ‘H’ (A) Schedule H
(B) Schedule ‘X’ (B) Schedule X
(C) Schedule ‘G’ (C) Schedule G
(D) Schedule ‘C-1’ (D) Schedule C-1
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173. Pharmacy Act came in to force in the | 173, wmifeh wae @ ——--- ¥ yad= e
tyear oo - }
(A) 1950 (A) 1950
(B) 1948 (B) 1948
(C) 1952 (C) 1952
(D) 1949 (D) 1949
174. The Appointment of Drugs Inspector | 174. g $=adeet it FgRe & we @ &
- is as per the section ___of 1940 Y ————= URT ¥ AR
Drugs and Cosmetics Act 1940. AR | .
(A) 19 (A) 19
(B) 42 (B) 42
©) 21 ©) 21
(D) 30 (D) 30
175. The list of Ayurvedic and Unani 17s. 311-3-&&55 va AT et zareli =t
poisonous drugs are mentioned in o Rrgger ———--- TR
. schedule :
(A) C-1 (A) C-1
B) G B) G
© E-1 (C) E-1
(D) E D) E
176. The designation of incharge of state | 176. T=al i g1 AR & TUTH H1 q@W
- drug laboratory is e 2
(A) Drugs Controller (A) TE HIER
(B) Assistant Drugs Controller (B) R TH weIer
(C) Government Analyst (C) =z Wfee
(D) Drugs Inspecior | D) T« THAa
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Wholly or Partly substituted drug

177. 177. 3 gadat Rent qut o W § R oW
preparations by another substance or geet e A g - - wHFdr 2 |
product is known as

, (A) wREw g
(A) Spurious Drugs
(B) Adulterated Drugs (B) « b
(C) Poisonous Drugs (©) wrafera g
(D) Misbranded Drugs (D) Trsres ga

178. First Pharmacy Council of India was | 178. waw wrkft wifaer siw sfear f=
Constituted in following year Y § = oft |
(A) 1949 (A) 1949
(B) 1548 (B) 1948
(©) 1960 (©) 1960
(D) 1953 D) 1953

179. The tenure of nominated members on | 179, et Hifas & g gt &t ®@
the Central Pharmacy Council is for WA —mmmme a8 Frar |

years.
(A) Three years (A)
(B) Six years (B) ®: =
(C) Five years (C) ww=d
(D) Two years (D) q =

180. ‘Registered Pharmacist’ means 180. e wrifee @ v ¢ f6

(A) A person passed Diploma in (A) Tl == wridy =afe
Pharmacy
(B) A person who is working as (B) =t =R ;
Compounder (C) wafer fraest am o & wnifee
(C) A person whose name is R g et g
Registered in State Register (D) wafn T Ao Bk wifeer w1
(D) A person who is a member of e 2
Central Pharmacy Council
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181. Two Electrons occupying the same
orbital have different

(A) Principal Quantum Number
(B) Azimuthal Quantum Number
(C) Magnetic Quantum Number

(D) Spin Quantum Number

182. Silicon and Germanium in the pure
state are ’

181. 2 T it W wikfr 3 § Tt e
e At 2 1 :

(A) fiftae Farew =1
(B) uRmuer Fawew TR
(C) umifeew FaTew W™

(D) fom «awFen A=t

182, yIg otaeen # fafewE e swaAfaw

= o wefta v & -
(A) Non-Conductors (A)
(B) Good Conductors (B) o
(C) Metallic Conductors ©) ugs
(D) Metalv Complexes D) umg V-
183. The water free from all ions isreferred | 183 wsft aram @ o T HEATAT 3 -
to as :
(A) Heavy water (A) Wy ot
(B) Concentrated water‘ (B) ¥Ig W™
© Mineral water (C) wavfig I
(D) Demineralized water (D) sreraufig w&
184. The resultant colour for the limit test 184. WA (V=) ¥ fifre 2= & wRomda @
foryead is v d -
(A) Red (A)
(B) Green ®) T
(©) Violet ©) *
(D) Orange D) T
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185. The Aluminium Hydroxide comes | 185. ueafafram gregiamds fima i # armen
under the category of - 2 -
(A) Cathartic (A) Huriew
(B) Antacid (B) u=TE
(C) Adsorbant (C) TswRE=
(D) Astringent (D) wafg=
186. Phenobarbitone is used in 186. frtaeien &1 suam e A gar g |
(A) Grandmal and Psychomotor (A) HremTer 3iR |TEEEE TRt
Epilepsy
(B) Petitmal Epilepsy (B) Hezwrer eftrereh
(C) Parkinson’s Disease (C) mfeFa=a
(D) Analeptic (D) wAfRes
187. Selective o, Receptor Antagonist is 187. fr & ¥ WA @1 wEAsher o, fle
(A) Pronethalol Frwft 3 -
(B) Prazocin (A) sfeeTter
(C) Propranolol (B) SR
(C) wuArerte
(D) Practolol D) Fereter
188. Reversible Cholinergic Inhibitor is 188. wfawt wiferimes gafefeet gar @ -
(A) Isoflurophate (A) ITEATEERI®E
(B) Paraoxon (B) W
(C) Physostigmine (C) wrzmfeirm
(D) Tetraethyl pyrophosphate (D) T3ATTA UTZARIARE
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189. The structure of Benzilyl carbocholine

() -0 T

@( C -O-CH,-CH,- CCH
Il CH,

(B) Cl / IOH CH,
@ N ¢ -O-CH- C}L-é—CH,
n tu,

(C) GLC/OH | T

i
\ ¢ -0~-CH,-CH,~-C-CH,
C,,O ) CH,
o) .

@ CH,

/C\Coca CH,CCH‘
HO—@

CH3

190. Maximum Diuretic Activity of meta-

189. mmﬁm@;ﬁ

@L/ o

(A)
C -0O-CH,-CH,- c CH,
o i

CH,
SNPL

B
()g\ —OCHCHdCH
ll CH3
(©) @c’OH e
,@ Ne -0~ CH, - CH, - C- CH,
Cl il CH,
o}
D) 2 ou CH,
/C\C O-CH,-CH, - c CH,
o LD M

190.ﬁmmr§aaﬁﬁwﬁGquﬁ%

- disulfamoyl benzene is shown when T g stfreew St Wt fewmdt
the R group is 2
R NEL R NH,
SO,NH,
HNOS SO,NH, H,NO,S 2
(A) CI, Br (A4) €, Br
(B) H-*, Na* (B) H*, Na*
(C) Both (C) dmt
(D) None (D) =g 7
191. Plasma Protein Binding of | 191. grgﬁ-;a}w-m # Ee T
Hydrochlorthiazide is el Bt 2
(A) 80-90% (A) 80-90 %
(B) 90-95% (B) 90-95%
©) 60-70% (©) 60-70%
(D) 70-75% (D) 70-75%
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192. When Morphine is héated at 140°C | 192. s Wi =t @ Tregiaeifts st
under Pressure with strong Hydro- ¥ @y TEa ® 140°C wt i fwan sman
chloric acid it converts into 2 @ 92 sew W 8-
(A) Morphinone (A) WRRFA
(B) Apomorphine (B) uaraRfET
(C) Codeine (C) ®EA
(D) Oxymorphine (D) areftaRiE
193. Choose the IUPAC name of | 193, mwdwdf % [UPAC 71w &1 wid &l
Carbamazepine (A) 5-3- (srgPrarger sTeah) arse)
(A) 5-[3- (dimethyl amino) ethyl] 10 - 11 2S5 T2 (b
10 -11 dihydro - 5 H dibenz SR A ®.0
(b, f) azepine
(B) 5 H dibenz (b, f) azepine - 5 - (B) 5T =% LRV "3-
carboxamide I FHTATES
(C) 5 H dibenz (b, f) azepine - 5 - © 5= TEd (b W -5 -
acid chloride LUEES SIS
(D) 5 [3- dimethyl amino propyl] (D) 5 [3- szfRara ot wursH]
10 -11 dihydro - 5 H dibenz 10-11 SEgER - 5T BEaw (b,f)
(b, ) azepine A
194. Which one of the following isnot a | 194 fyz¢ & ® =T 4T WITEIT &7
pharmacological effect of Morphine? I R w2 |
(A) Constriction of pupil? (A) sitEd qreh w1 Rigen
(B) CNS Depression B) e R '
(C) Diarrhoea (C)' =rafar
(D) Respiratory Depression (D) Tefiveh Rdvw
195. The gonadal harmones like estrogens, | 195, TR TR R Srifeea 3 Masa
androgens and progestins bind with. i e & e 2
(A) Receptors located in the ) '
cytoplasm ‘ (A) fréez st wrgeicaTH # 3
(B) Receptors located in the nucleus (B) frérer it sifvrent & Tifdres o 2
of the cell e 3 et .
(C) Receptors located in the © 3 = #
contractile vacuoles '
(D) None of the above (D) 379 | =g oft 7
ASD/12-B -66- Set - A




196.

197.

198.

199.

200.

How many optical jsomers are
possible for lactic acid

(A) 2

B) 4 .

©) 6

(D) 8

Which of the following classes of
compounds are unreactive towards
Sulphuric Acid i

(A) Alkanes
(B) Alcohols
(C) Alkenes
(D) Alkynes

Which of the following compounds
have planer molecules .

(A) 1,3 - Butadiene
(B) Dimethyl Ether
(©) 1 - Butene

(D) Allene

Which of the bonds in ethyl alcohol
(CH,CH,OH) will most readily
undergo heterolytic bond fission?
(A) O-H

(B) C-H

(C C-0

D) C-C

The reaction of Ethanol with one
equivalent of methanol and a trace of
an acid will give.

(A) Acetal
(B) Hemiacetal
(C) Ketal
(D) Hemiketal

. 196.

197.

198.

199.

200.

AT T |
(A) 2
B) 4
©) 6
D) 8

Frer 8 3 ot St S e T
s % i orfdeaefter 93 £ 1

(A) T
(B) Trmge
(C) uehm
(D) TwwTEA

frer ¥ @ w & v F @R o R
2 |

(A) 1,3 - =ggreTA

(B) ewtaurser 3R

©) 1-=g@=

(D) uFel=

e & | 3uTger TeRiEe W & A
e v @ PR aie fem
2

(A) O-H

B) C-H

(C) C-0

D) C-C

THTS & | T Jaaeie Rt ot
areaeq e aen o ufte 6 e B
gt |

(A) uftrewt

(B) ¥rafres

(C) ®rew

(D) Fdrem
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INSTRUCTIONS REGARDING METHOD -

OF ANSWERING QUESTIONS

1.

2.

3.

(Please use Black ball-point Pen)

Method of Marking Answers :

To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

Yaluation Procedure :

There are four alternative answers to a
question, only one of them is correct. One
mark Will be awarded for each correct
answé{ if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

Cancellation or Change in Answer :

It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
Question Bookiet No. etc.

(i) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

Care in Handling the Answer Sheet:

While using answer sheet adequate care
should be taken not to tear or spoil due to

(F9at Black ball-point U7 &1 JEWT )
1.

. g gl

I [ w e

IR 3 F o Awam. W e |
TR Te & o R M SR et °§ ¥
Fa TF M B QU FreA IR |

Y Y9 o IR @vifad ¥, ST 4 T
I TE | T T A W 2Afhd FA A
TH AF TH Ml AR @ ¥ =g 09
el Rl a8 A 98 WA SR R wlaed
aﬁmmlﬁﬂwﬁw%aﬁtlf@ﬁi
I 7d o W)

IW & Fea wET A q@e

IW 5o I i @ F o) = @i
[ AWM NN F Fem = agan @
T A | 2@ I H el WA F @ q@
Y IW F TA AEUHIEE B

() e F i @R F ga ghima
W o fh W die & qAl 78 | wft
yfdal dA-Tm, U TR, FEIE,
-Yfere w1 A, e fwita
WM | JH-3F R W F)

(i) when I vl A weA-gfeem
I WY A AW H el

Iweiie & SuaT o araer

IAEie 1 TE w1 g9 70 aE @
Y 9t | 3@ B, MY A1 weEe

folds or wrinkles and the impression ‘T@-li e RCrck FiC] é w FA I I Y Ten
does not come behind the Answer sheet. FAT 'S-,H LK -g-lagﬂ:ﬁ -g qﬁ 'ﬁ; TR W
i % 18 am § 78 o |
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